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1 BERE2 |[EEH% TEA 999,000 287 363 2,752 3,481
2 B2 iE BAEBRE2 |ZEA 962,000 298 330 2,915 3,228
3 BEHE2 |REA T 953,000 276 411 2,319 3,453
4 HEE EE% ZRA 941,000 301 382 2,463 3,126
5 182 1 ZiaA fg5 FE 939,000 253 321 2,925 3,711
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I L R BOX | BOEAX | REME | B & A F | keBffi | B#nEM
1 M BHEX RIEA 838,000 294 333 2,517 2,850
2 fRZ R =053 RREA 762,000 297 328 2,323 2,566
3 fBziE TEA ET1E 761,000 306 376 2,024 2,487
4 fRziE TIEA RS 761,000 295 355 2,144 2,580
5 ] S ZiEA 760,000 283 347 2,190 2,686
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EHSE| 5B M | xeffE | XIEMEE | FHMEE | FHBEE| FHAE| keBl | HESEM
B2 28| 962,000/ 500,000 794,607 289 348 2,283 2,750
P 23| 941,000/ 305,000 719,305 287 341 2,109 2,506
H"HETHIE 17| 822,000 296,000 580,705 293 328 1,770 1,982
EE#% 8 759,000 369,000 654,000 287 336 1,946 2,279
ERAER 8| 784,000 369,000 619,750 284 337 1,839 2,182
[ 8| 730,000 271,000 570,500 283 312 1,829 2,016
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Fa=e) 34|  659,000[ 258,000 493,853 294 300 1,646 1,680
BB 25| 751,000] 413,000 622,880 294 323 1,928 2,119
BENTE 13| 617,000 344,000 451,846 306 314 1,439 1,477
%12 6|  754,000{ 457,000 611,500 290 317 1,929 2,109
HERA 6 617,000 444,000 519,334 287 288 1,803 1,810
SERCIE 5/ 579,000] 386,000 494,000 298 282 1,752 1,658
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=B 17| 822,000, 296,000 580,705 293 328 1,770 1,982
HY 13| 617,000 344,000 451,846 306 314 1,439 1,477
Hi 30|  822,000{ 296,000 516,276 300 321 1,605 1,724
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E8 |"EEDE |REA R 822,000 298 346 2,376 2,758
HY  (HREE TEZE ZERA 633,000 297 363 1,744 2,131




